### North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$2,000	\$2,000
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$500	\$1,500
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$800	\$2,400
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	\$335	\$61,894.60
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	\$305	\$188,691.30

56,485.90

CONTRACTOR Lawn & Order Mow	ing LLC	<del></del>
ADDRESS 425 Rance Buck RD, V	anceboro, NC, 28586	
Federal Identification Number 93-3835	273	
Contractor's License Number4007715	5	
Authorized Agent Javier Oviedo	TitlePresident	CORPORATE SEAL
Signature Sau	Date11-06-2024	Lawn & Order Mowing LLC
WitnessAnna Wolfston	TitleSecretary	
Signature	Date 11-06-2024	

	Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Execution)	
Name	Javier Oviedo	
Email	javier@lawnorder.services	
Phone	252-626-1278	
Reviewed by	THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION  This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.	Date 11/2/24
Accepted by	NCDOT MARKS	Date 11/7/2024 Date 11/7/2024

### **North Carolina Department of Transportation** PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

**Secondary Unpaved Routes in Sampson County** 

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$1000.00	\$1000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$500.00	\$1500.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$500.00	\$1500.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	\$218.00	\$40,277.68
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	\$218.00	\$134,867.88

TOTAL BID FOR PROJECT: \$179,145.56

CONTRACTOR PLCL Contracting LLC		
ADDRESS P.O. Box 282 Ayden, NC 28513		
Federal Identification Number 83-3822763		
Contractor's License Number N/A		Contraction
Authorized Agent Maria Rogerson	Title_Manager	SEALE ?
Signature Marie Rogerson	Date 11-5-2024	2019
Witness Christi Edwards	Title Office Admin.	2019
Signature made Edwards	Date 11-5-2024	-

Contract Execution)	
Name Maria Rogerson	
Email_plclcontractingllc@gmail.com	
Phone 252-341-7953	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA	
DEPARTMENT OF TRANSPORTATION  This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.	_
Reviewed by NCDOT Bulke	_Date 11/7/24
Accepted by NCDOT THE MAN MAN	_Date

# North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215 Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved Routes in Sampson County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	1000.00	1000,00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	500.00	1500.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	500.00	1500.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	228.68	42,221.35
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	228.52	141,376,18

TOTAL BID FOR PROJECT: 187,597,53	
CONTRACTOR BUSHWHACKERS INC  ADDRESS 3444 MEASORS SPUR Rd MONETA  Federal Identification Number 54-143477	VA 24/21
Contractor's License Number	
Authorized Agent Julio VIERA Title Supik VISPR	CORPORATE SEAL
Signature Julie Piera Date 11-5-24	
Witness Linga Whight Title Assistant Sec	
S. L. S. St D. 11-5-14	b.

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and	
Name URTIS URIGHT	
Email DUSHWHACKERSINC @ 201, COM	
Phone (540) 312-3067	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION  This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.	ulahy
Reviewed by NCDOT	Date 11/1/27
Accepted by NCDOT_ toth MAAN	Date 11/7/24 Date 11/7/2024
	, ,

## North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	1000-00	المندين
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	1708.25	5124.75
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	100.00	300.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	264-00	48,776.64
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	264.00	163,376-24.

TOTAL BID FOR PROJECT: 42181321.03	
CONTRACTOR LTS Feed, Inc.  ADDRESS 2847 Nody Hode Rd, Ederby, N. 27932  Federal Identification Number 84-3868132	
Contractor's License Number S Feed'	
Authorized Agent \ \( \text{Langer} \) \( \text{Langer} \) \( \text{Title} \) \( \text{V} \)	
Authorized Agent LONG LANDS / Title VI Date 10/18/24  Witness Title Secretary	
Witness Saraha Title Secretary """"""""""""""""""""""""""""""""""""	
Signature Date 10/18/24	

Point of Contact for Po Contract Execution)	ost-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, at	I <b>G</b>
Name		
Email		
Phone		
COLLEG	CECTION TO DE COMPI ETED DV NODTH CADOLINA	
THIS	SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION	
This bid ha	s been reviewed in accordance with Article 103-1 of the Standard Specificat	ions
Reviewed by NCDOT	for Roads and Structures 2024.	
A NODOT	James and His	Date 11/7/2076

### North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	500,00	500,00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	100.00	300.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	300.00	900.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	212,00	39,169,12.
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	212.60	131,155,92

TOTAL BID FOR PROJECT: 172,025,04	
contractor JMC Clearing & Mulching ADDRESS 4959 Harrison-Phelps Rd La Grang Federal Identification Number 85-1829 790	LLC 28551
Contractor's License Number 119583	
Authorized Agent Jaime H. Moore Title Gunoy Immber	CORPORATE SEAL
Witness June St. Mouse Date 11-5-2024  Witness June St. Mouse Date 11-5-2024  Witness June St. Mouse Date 11-5-2024	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and
Contract Execution)
Name Jaime Moore
Email jaime harrison moore agmail com
Phone 252-559-9960
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications
Reviewed by NCDOT Brown for Roads and Structures 2024.  Date 11/7/24
Accepted by NCDOT South With Date 11/7/2014

### North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	1500.00	1500.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	215.00	825.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA I	000.00	3000.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	224.00	41,755.76
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	249.00	154,046.34

TOTAL BID FOR PROJECT: # 201, 127. 10							
CONTRACTOR Truly Transportations logistics The ADDRESS 2020 Longmost Dr. Wake Forest NC 27587 Federal Identification Number 47-3947239							
Authorized Agent Northa lidges  Signature Moha lidger  Date 11/5/2024  Witness Sincere Washington  Title Manager	CORPORATE SEAL						
0: 11/1/1/1/1/19/9							

Point of Co Contract E	ntact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and xecution)	
Name	Notia Ridges	
Email	ner attlines.com	
Phone	919-521-6464	
	THIS SECTION TO BE COMPLETED BY MODILI CADOLINA	
	THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION	
	This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications	
	for Roads and Structures 2024.	1 1
Reviewed by N	CDOT BOOK	Date 11/7/24
Accepted by N	Or et Miles	Date 11/7/202

### North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

Secondary Unpaved Routes in Sampson County

TTEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$1,000.00	\$1,000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$1,000.00	\$3,000.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$500.00	\$1,500.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	\$ 229.06	\$42,310.04
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	\$229.00	\$ 141,673.14

### TOTAL BID FOR PROJECT: # 189, 483.18

CONTRACTOR Piedmont Management & Cons	
ADDRESS 104 Travis Lane Gibsonvill	e NC 27249
Federal Identification Number 27 - 3105334	
Contractor's License Number	
Authorized Agent Sarah-Margaret Chuffite managing member	CORPORATE SEAL
Signature Date 11 6 24	
Witness hunn Carroll Title	
Signature Carroll Date 11/6/24	

	ct Execution)	
Name_	Sarah- Margaret Church	
Email_	pmc/c. nc @gmail.com	
Phone.	336-675-1248	
	THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.	, ,
Reviewed	I by NCDOT Broken	_Date 11/7/24
Accontact	In NCDOT Soft Miller	

### North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.108215, 3RE.208215

Long-Arm Mowing along Primary & Secondary Paved Routes and

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	500,00	500,00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	2,000,00	6,000.00 -
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	1,500,00	4,500,00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	184.76	SMI	0755,00	47,113,80
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	618.66	SMI	0)55,00	157,758,30

CONTRACTOR JAY L Services LLC  ADDRESS 7809 Neugent DL Kernersville NC 27284  Federal Identification Number 33-1374566	
Contractor's License Number	_
Authorized Agent Lenee Melvin Title Mangel SEAL	
Signature Date 11/10/24	
Signature Journ Bellin Date 11/6/24	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and	
Contract Execution)	
Name Level Melvin	
Email Hence Welvin agmail Com	
Phone 334-202-609	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA	
DEPARTMENT OF TRANSPORTATION	
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications	
for Roads and Structures 2024.	,
Reviewed by NCDOT Date	11/8/24
Accepted by NCDOT July Mills	. <u>u[8 24</u> _ <u>11</u> /8/2024